0002012457897999

&0 KREXkE 0—e—>

2015 4 R 58 1

l | a%EHLTE. A2+ —4x—8y+16=0LEy =ax+1XELZ2RA, BTRb>TW3.

(1) a OIEDEEIH % Kb A X\,
(2) ABDEXNRAIIRD L XD a D% KD X\,
(3) ABOEXN21zHR DL XD aDffid RO X\,

() M (x=2Y+(%4-4)y=5 &J. P10 (2.4), #4345

= d
S e Y=ax+! oFa ) s &Y T .
18 -
d<4s
cEeBifataynd &,
[2a-4+1]
z —_—— <1f_l,:
d Jar+ 1
L2+ 120450 ~al=6=2410 , ~6+240 <

(2) SEAB w B4 e3 LI m K (
boes B3 13 MoPiw(2.4) 5183
w4=2axl o=

G)TEoBEy. AB=2{5-d* = 2

=4

. (2a-3) )
o+

—hefik<e, [(2a=5

3

A= 137

4




